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3HQHOLWLDQ� LQL� PHPEDKDV� WHQWDQJ� SHODNVDQDDQ� SURJUDP� PDKDVLVZD�
ZLUDXVDKD� WDKXQ� ����� GL�813�� IDNWRU� ±IDNWRU� NHEHUKDVLODQ� GDQ� NHJDJDODQ� VHUWD�
NHQGDOD�SURJUDP�PDKDVLVZD�ZLUDXVDKD�GL�813�GDQ� MXJD�XSD\D�GDODP�PHQJDWDVL�
NHQGDOD�SHODNVDQDDQ�30:�WDKXQ������GL�813��7XMXDQ�GDUL�SHQHOLWLDQ�LQL�DGDODK�
XQWXN�PHQJHWDKXL� HIHNWLILWDV� SHODNVDQDDQ�30:�� � IDNWRU�IDNWRU� NHEHUKDVLODQ� GDQ�
NHJDJDODQ� �� NHQGDOD VHUWD� XSD\D� GDUL� SHODNVDQDDQ�SURJUDP�PDKDVLZD�ZLUDXVDKD�
WDKXQ������GL�813��

-HQLV� SHQHOLWLDQ� LQL� DGDODK� NXDOLWDWLI� GHQJDQ� PHQJJXQDNDQ� PHWRGH�
GHVNULSWLI��/RNDVL�SHQHOLWLDQ�LQL�GL�8QLYHUVLWDV�1HJHUL�3DGDQJ��3HPLOLKDQ�LQIRUPDQ�
GLODNXNDQ�FDUD�SXUSRVLYH VDPSOLQJ��7HNQLN� �SHQJXPSXODQ� �GDWD�\DQJ�GLJXQDNDQ��
DGDODK� REVHUYDVL�ZDZDQFDUD� GDQ� VWXGL� GRNXPHQWDVL�� $QDOLVLV� GDWD� GHQJDQ� WHRUL�
LQWHUDNVL� 0LOHVGDQ� +XEHUPDQ� \DLWX� PHUHGXNVL� GDWD�� PHQGLVSOD\� GDWD�� � GDQ�
SHQDULNDQNHVLPSXODQ�

%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ� GDSDW� GLVLPSXONDQ� EDKZD� SHODNVDQDDQ�
SURJUDP�PDKDVLVZD�ZLUDXVDKD�WDKXQ������GL�813�EHOXP�PHQFDSDL�VDVDUDQ�WDUJHW�
DWDX�EHOXP�VHVXDL�GHQJDQ�SHUHQFDQDDQ�SURJUDP��PDVLK�WHUGDSDW�EHEHUDSD�NHQGDOD�
GDODP�SHODNVDQDDQ�SURJUDP�VHSHUWL��EDQ\DNQ\D�SURVHGXU SHODNVDQDDQ�\DQJ�EHOXP�
WHUHDOLVDVLNDQ�GDQ� MXJD�ZDNWX�GDODP�SHODNVDQDDQ�\DQJ�NXUDQJ�WHSDW�IDNWRU�IDNWRU�
\DQJ�PHQ\HEDENDQ� NHEHUKDVLODQ� 30:� WDKXQ� ����� GL�813� DQWDUD� ODLQ� DGDODK� �
IDNWRU�NHPDXDQ�GDQ�NHPDPSXDQ�� WHNDW�\DQJ�NXDW�GDQ�NHUMD�NHUDV�� NHVHPSDWDQ�
GDQ�SHOXDQJ��SHQJDODPDQ�GDODP�SHNHUMDDQ��IDNWRU�NHJDJDODQ�30:�WDKXQ������GL�
813� DGDODK�� WLGDN� NRPSHWHQ� GDODP� KDO� PDQDMHULDO�� NXUDQJ� EHUSHQJDODPDQ��
NXUDQJ� GDSDW� PHQJHQGDOLNDQ� NHXDQJDQ�� JDJDO� GDODP� SHUHQFDQDDQ�� ORNDVL� \DQJ�
NXUDQJ� PHPDGDL�� PDVD� VWXGL�� XSD\D� \DQJ� WHODK� GLODNVDQDNDQ� GDODP� PHQJDWDVL�
NHQGDOD� DGDODK� $GDQ\D� � OHPEDJD� NKXVXV� GDODP� PHQJHOROD� SURJUDP� PDKDVLVZD�
ZLUDXVDKD� WDKXQ� VHODQMXWQ\D� GDQ� $GDQ\D� SHUXEDKDQ� VLVWHP� SHODNVDQDDQ� GDQ�
V\DUDW�SHQGDIWDUDQ�SURJUDP�PDKDVLVZD�ZLUDXVDKD�WDKXQ�VHODQMXWQ\D�

.DWD�.XQFL���(YDOXDVL�3URJUDP��3URJUDP�0DKDVLVZD�:LUDXVDKD


